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[Time: 3 Hours] " [ Marks: 100]
. e 5
‘9 %QD oo Please check whether you have got the right question paper.
N.B: 1. Allquestions are compulsory and carry equal marks.

2. Use of map stencil is allowed.
3. Draw sketches and diagrams wherever necessary.

1. Attempt any Two questions from the following: 20

a) What is Human Geography? Explain the nature and scope Human
Geography.
b) Distinguish between Determinism and Possibilism with suitable examples.
¢) Describe various branches of Human Geography.
2. Attempt any Two questions from the following: 20

a) What is Urban settlement? Explain the types of Urban settlements based on
site. "

b) Describe the functional classification of Urban settlements.

¢) What is a rural settlement? Write the functions of a rural settlement.

3. Attempt any Two questions from the following: 20
g a) What are the factors attesting population distribution in the world?
b) Describe the concept and problems of under population.
¢) Explain the stages of population change with the help of Demographic
Transition Model.

4. Attempt any Two questions from the following: 20
a) What migration? Explain the various types of migration.
b) Describe Reilly’s Gavity model of migration. .

7 ¢) What are the positive and negative impacts of migration.

5. Attempt any Two questions from the following: 20
a) Construct Age-Sex Pyromid and interpect it.
SR. No | Age Groups Males Females
1 0-19 301 299
2 20-39 299 250
3 40-59 180 170
4 60-79 150 130
5 80 above 90 50

b) Write short note on Nearest neighbor analysis.
¢) Explain the construction and interpretation of flow diagrams.

d) Find out Rn from the following information.
i.  Average distance between settlements 4 km
ii.  Total area — 4000 sq. km
iii.  Number of settlements - 10
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